Ke |
Name g / Per. Date

Unit 2 Practice Problems

1. Complete the following table:

Year 1 Year 2 Year 3
Gross Domestic Product 4,532 4,804 S 140
Consumption 3,121 3,320 3,544
Investment 589 629 673
Government Purchases 861 §13 977
Net Exports -45 -58 -54

a. What is the largest expenditure component of GDP? t ‘

\
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b. Does investment include the purchase of stocks and bonds? Why? . ;
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c. Do government purchases include government spending on unemployment checks? Why?

A/U) +fan57[ir f‘*‘/Mc"j— vlo'H'\rv\ Nevs :.\’ C(CQJV(J
SN

d. What does it mean to say that net exports are negative?
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2. Suppose the base year in the following table is 2003. Ow
Year Production of X Price per Unit of X A g
2008 20 units S5 N 4 :
2009 20 units $10 P
2010 20 units S20

a. Whatis the nominal GDP fgr:

2008 1 (%0
2000 %00 Ths lesson was
2010 A 10 ah‘p{?J Fram Hhe
b. WhatisthereaIGDPzgooré ¥ 100 | 7012 /‘/Ldnk,'w S\'hlj\!
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2010 4 1006
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3. Suppose the following table records the total output and prices for an entire economy. |
Furthermore, suppose the base year in the following table is 2008. l

YEAR PRICEOF SODA  QUANTITYOF  PRICEOFJEANS  QUANTITY OF

SODA e ~ JEANS
2008 $1.00 200 $10.00 50 ,‘
2009 $1.00 220 $11.00 50 I

a. Whatis the value of nominal GDP in 20087

#705
b. What is the value of real GDP in 20087

4 100
c. What is the value of nominal GDP in 2009?
4110
d. What is the value of real GDP in 20097
#Hnz0

e. What is the value of the GDP deflator in 20087
(00
f.  What is the value of the GDP deflator in 2009?
(07
g. From 2008 to 2009, prices rose approximately what percentage?

(67 -100 x 160 = "2 %

00
h. Was the increase in nominal GDP from 2008 to 2009 mostly due to an increase in real
output or due to an increase in prices? .
Aomenal - T70-0 Y. 1007 107 prites  rose 1% so ot

Vaerease - 2060 was WGS'HI dwe 'I-h an fncrc'i&
4. Complete the following table: P priiE
YEAR NOMINAL GDP REAL GDP GDP DEFLATOR ' P
1 160 $100 100
2 $120 400 120
3 $150 S125 120

a. What is the base year? How can you tell?

Year (} the GDf /rro\u index ov Jt)[/c"or = |00

b. From year 1 to year 2, did real output rise or did prices rise? Explain.

f!\‘c¢5 rosSe ZO?O anJ rﬂs, 0\4{})&"- rosSe 2{7‘

c. From year 2 to year 3, did real output rise or did prices rise? Explain.

prices 5)&\{4 the same  and real ou\Lfmf ase 25 7o
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5. The following table shows the price and the quantities consumed in the country known as
Arendelle. Suppose the base year is 2013. Also, suppose that 2013 is the year the typical
consumption basket was determined, so the quantities consumed during 2013 are the only
quantities needed to calculate the CPI in

teffuce
YEAR PRICE OF QUANTITY PRICE OF QUANTITY PRICEOFISE  QUANTITY
 SLEIGHS  OFSLEIGHS  CARROTS  OF CARROTS  Bi@SKS |CESEEHS Le"'f\?cc
2013 S50 10 $1.00 100 S5 100
2014 S50 12 $1.00 200 S10. 50
2015 S60 12 $1.50 250 S20 20
a. What is the value of the CPlin: | 106
2013 _joo = 1toe
1606
2014 _45.5 = e * 1°°
0 . 2756
2015259 = 5o X 100
b. What is the inflation rate in:
) 45~ 100
2014__45.5 7o = I——,zé’ x #8
2015 .89 = 2541155 4 00
145.§

c. What type of bias do you observe in the CPl and corresponding inflation rates you generated

above? Explain. g“bst“-[.;f\‘m bI‘ASI becawse 4% B . b{* ;’q
7nc(e&$2)) 'H\* Qum—{““"}\, Cﬂ*“v\Me,J Jw/-\nc/
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d. If you had a COLA claus€’in your wage contract based on the CPI calculated above, would
your standard of living likely increase, decrease, or stay the same during the years 2013-
2015? Why? ( A Cost of Living Adjustment or COLA is a built in raise in a contract designed to combat inflation)
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e. Again, suppose you had a COLA clause in your wage contract based on the CP! calculated
above. If you personally only consume Carrots (no Sleighs or | (IS s), would your
standard of living likely increase, decrease, or stay the same during the years 2013-2015?
Why?
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6. Suppose that you lend your roommate $100 for 1 year at 9 percent nominal interest. i
a. How many dollars of interest will your roommate pay you at the end of the year?

14 1 :
b. Suppose at the time you both agreed to the terms of the loan, you both expected the
inflation rate to be 5% during the year of the loan. What do you both expect the real

interest rate to be on the loan? _ |
Q% - 5 K %0 i

i
c. Suppose at the end of the year, you are surprised to discover that the actual inflation rate 4
over the year was 8%. What was the actual real interest rate generated by this loan? !

Q% - §% = | 2
d. Inthe case described above, actual inflation turned out to be higher than expected Which
of the two of you had the unexpected gain or loss—your roommate (the borrower) or you

(the lender)? Why? Vier Figsigonty (HM L""”"B ained you Wi
b{t«v\sg \)oh were FQ.) lpa.cl( ) /71-'9 a/ /45; va /m ‘IZA‘M }'0“-

“
e. What would the real interest rate on the loan have been if the actual inflation rate had e
turned out to be a whopping 11 percent?

775“ /(70 = - 270

f. Explain what it means to have a negative real interest rate. L A ik ok
-(’Zu pd‘w ra-{-( P S /end(f aqrmo/' e Yen rea (! ont £

,Ugt e%urckasm Prwee with tha w-p ad s y

7. Suppose there |s an lncrease lﬁ the price of imported BMW autémobiles. Would this havea -
larger impact on the CPl or the GDP deflator? Why?

T‘u (‘PT beeauvse We ConSumd L\l ?thf l'\'b -H'u mquc-c‘lL Aaséc
bat Trnporkd Bl dont gowed— in e EDP

8. Your grandfather quit smoking cigarettes in 1995. When you ask him why he quit, you get a
surprising answer. Instead of reciting the health benefits of quitting smoking, he says, “I quit
because it was just getting too expensive. | started smoking in 1965 in Viatnam and cigarettes
were only $0.45 a pack. The last pack | bought was $2.00 and | just couldn’t justify spending
more than four times as much on cigarettes than | used to.”

a. In 1965, the CPI was 31.5. In 1995, the CPl was 152.4. While it is commendable that your
grandfather quit smoking, what is wrong with his explanation?

l'\'f I 4"‘“{ J§€W5§(‘;Lj "“"C dost e‘"p ?Qrdf{$ ) naml‘m'c/ Arm\{/
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b. V\}hat is tﬁe equwalent cost ofa 19;5 pack of cigarettes measured in 1995 prlces?
JO "{5/ X ( 3, > - Z.l{ uulncd\ lS‘ j‘(ec\f?r ‘H\*V\ ﬂ‘ZﬁO
c. Whatis the equivalent cost of a 1965 pack of cigarettes measured in 1995 prices?

4200 x }lf>~— Boql whith s [(GS tHin 8 8.4c H

52.( /) 7
d. Do both methods give the same conclusion about the price of cigarettes? Explain.

\/ef MCLI wyeasurc fwcd's #\ f 'C"ir CDrrecHn‘j ](\,/ (V\F/Q_ aw

16 Jere acltusll or ngrve mY (16S”
e. This examéles illustrates a concept econ&mlsts called %rgéney illusion.” Why do you think

economists might choose the phrase “money illusion” to describe this behavior? 0
wk.l. b4} P{#r(‘- étu (}e(.‘nf,‘mf H VQI\A(S un(‘Or’rpc}leal
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